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Many contemporary policy issues are controversial and conflicting. It is always a challenge
for public managers to make proper decision on controversial issues. Please choose any two
of the following policy issues as your topics, reviewing the confronting opinions regarding
the issues, and then tell us how you would address the controversies if you were the policy

maker. (50% for each topic)
You may answer the questions in either English or Chinese.

1. Should prostitution (commercial sex) be legalized?

2. Should death penalty be abolished?

3. Should the government build more social housing to remedy housing inequality?

4. Should we teach gay rights in the elementary school? _

5. Should the government fully accept higher education certification taken in Mainland

China, including those of medical sciences?
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Please answer in English two out of the following three questions.

A. Please discuss your knowledge about public affairs management and, in particular, the
topical area(s) that interests you. Practical cases may be included for the discussion(50%).

B. Please discuss your preparation for studying abroad, including country and city to
consider, school and major selection, curriculum arrangement, language and
expenses.(50%)

C. Please discuss what might be the major difference(s) and adjustment(s) one face in
staying in country(s) like the U.S..(50%)
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1 | .158 .325 .510 .727 1.000 1376 1.963 3078 6.314 12.706 31.821 63.657 636.61% <
2 | .142 289 .445 617 816 1.061 1.386 1.886 2.920 4.303 6965 9.925 31.598
3 | 137 277 .424 .584 765 978 1.250 1.638 2.353 3.182 4.541 5.841 12.94]
4 ) .134 271 414 569 .74 .941 1190 1.533 2,132 2776 3747 4.604 8610
5 | .132 .267 .408 .559 .727 920 1.156 1.476 2.015 2.57t 3.365 4.032 - 6.83%

6 | .131 .265 .404 .553 .718 906 1.134 1.440 1.943 2447 3143 3.707  5.959
7 | .130 .263 .402 .549 711 .896 1.119 1415 1.895 2365 2.998 3499 5405
8 | .130 262 .39% .546 .706 .889 1.108 1.397 1.860 2306 2.896 3.355 5.041
9 | .129 261 .398 .543 .703 .883 1.100 1.383 1.833 2262 2.821 3.250 4.781
0| .120 260 .397 .542 .700 879 1,093 1.372 1.812 2228 2764 3.169  4.587

11§ .129 260 .396 .540 .697 876 1.088 1.363 1.796 2201 2718 3.106 4.437
12 | .128 .259 .395 .53% .695 .873 1.083 1.356 1.782 2.179 2.681 3.055 4.318
13 [.128 259 .394 .538 .694 .870 1.079 1.350 1.771 2.160 2.650 3.012 422!
14 | .128 258 .393 .537 .692 868 1.076 1.345 1.761 2,145 2.624 2977 4.140
15 | .128 258 .393 .536 .691 866 1.074 1.341 1.753 2.131 2,602 2947 4.073

16 128 .258 .392 .535 .690 .865 1.071 1.337 1.746 2.120 2.583 2921 4,015
17 | 128 .257 392 .534 689 863 1.069 1.333 1.740 2,110 2.567 2.898 3.965
18 | 127 257 .392 .534 .688 .862 1.067 1.330 1.734 2.101 2.552 2.878 3922
19 | .127 .257 .391 .533 .688 861 1.066 1.328 1.729 2.093 2539 2.861  3.883
20 | .127 .257 .391 .533 .687  .860 1.064 1.325 1.725 2.086 2.528 2.845  3.850

21 | 127 257 .391 .532 .686 859 1.063 1.323 1.721 2080 2.518 2.831 3.819
22 | .127 256 .390 .532 .686 858 1.061 1.321 1.717 2074 2.508 2819 3.792
23 | 127 .256 .390 .532 .685 858 1.060 1.319 1.714 2069 2.500 2.807 3.767
24 | .127 .256 .390 .531 .683 .857 1.059 1.318 1.711 2.064 2492 2797 3745
25 { 127 .256 .390 .531 .684 856 1.058 1.316 1.708 2060 2485 2787 3.725
226 | .127 .256 .390 .531 684 856 1.058 1.315 1L.706 2.056 2479 2779 3707
27 | 127 256 .389 .531 .684 855 1.057 1.314 1.703 2.052 2473 2771 3.690
28 | .127 .256 .389 .530 .683 .855 1.056 1.313 1L.701 2048 2467 2763 3.674
29 | .127 256 .38%9 .530 .683 .854 1.055 1.311 1.699 2.045 2.462 2756  3.659
30 | .127 256 .389 .530 .683 854 1.055 1.310 1.657 2042 2457 2750 3.646

40 | 126 .255 .388 .526 .68l .851 1.050 1.303 1.684 2021 2423 2.704 33551
60 | .126 .254 .387 .527 .67% .848 1.046 1.296 1.671 2.000 2.3%0 2.660 3.460
120 | .126 .254 .386 .526 .677 .845 1.041 1.289 1.658 1.980 2.358 2.617 3.373
w | .[26 .253 .385 .524 .674 842 1.036 1.282 1.645 1.960 2.326 2.576 3.291
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4 21 30 48 71 949 1114 1328  14.86
5] 41 55 83 115 1107 1283 1509 1675
6| 68 87 124 164 1259 1445 1681 1855
7| 99 124 189 217 1407 1601 1848 2028
8l 134 165 218 273 1551 1753 2009 2196
o| 173 2009 270 333 1692 1902 2167 23.59
10| 2016 256 325 394 1831 2048 2321 25.19
11| 260 305 38 457 1968 2192 2472 2676
12| 307 357 440 523 2103 2334 2622 28.30
13| 357 411 501 589 2236 2474 27.69 29.82
14| 407 466 563 657 2368 2612 2014  31.32
15| 460 523 626 726 2500 2749 3058  32.80
16| 514 58 691 796 2630 28.85 3200 3427
17\ 570 641 756 867 2750 3019 3341 3572
18] 626 701 823 939 2887 3153 3481 37.16
19| 684 763 891 1012 3014 3285 3619 3858
20| 743 826 959 1085 3141 3417 3757  40.00,
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4, BESE (RAFLH - HELH) 2F 42 (local governance) Ritd)n
FHZEEZRYE  RAMEGEBFERVRGHRISL A Fg - FHXTHRIAE
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1. Find the derivatives for the following functions. 20%
. 1 X
i f(x)=

e i y=e"+77° iii. f(x)=

iv. Find dy/dx where sin(3y)+cos(5x) = xy

cos’ x

2. Sketch the function. f(x)=x+ sinx,(0<x<27). 20% Indicate

i the critical points,

i, the reflection point(s),

iii. the global maxima and minima,

iv. the increasing and decreasing and concavity of the function

3. Evaluate the following. 30 %

i Ixe"‘zdx i, im xe™ il jj.x\/y3i+lajlcbc.

x—>e0
0x/3

1 ,
iv. Ixf "(x)dx where f is twice differentiable with f{0)=6, A1)=5, and £ (1)=2.
0

-4

V. pr Inxdx . indicate the value of p so that the integral converges.
. . = n-1 = .1
VL. Determine if the sequences converge a. Z 3 b. Zsm(-—)
n=1 n=1 n

4. By looking at their Taylor series, decide which of the following functions is the largest -
and which is the smallest, for x near 0. 15%
' 1

1-2x

X

i l+sinx i e ii.

5. While taking a walk along the road where you live, you accidentally drop your i-phone,
but you don’t know where. The probability density p(x) for having dropped the i-phone

x kilometers from home (along the road) is p(x) =2e™>* for x20. 15%

i, 'What is the probability that you dropped it within 1 kilometer of home?
ii. At what distance y from home is the probability that you dropped it within y km
of home equals to 0.95
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1, BeTHk Sio B A AR S MPC=5+0.004g » £ HFHE#4% 10> AR
(a) b efBBmAMEE? (84) |
(b) {b TR HEA K > B35 R A (EBIMEARA) &84 MEC=0.001g - {37
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() G BELTRENS VR ER  + TRRILTRELFERTRANBKRT
(10 %)

2. %zwmmmmwmmm=6o—§- I L T STy

WA R B S C =2g,), C=(g,) c RRBBERBMBERNES -2
wAE? (254%°)

3., 2E_AASRB WHEXAYZHHRIFHFEHHE  ARARR
W W?)=(60,30) » BHeA RB (W, , W) )=(30,60) » Uy(x, ) =%,Y4
U, (%5, 75) =%,7," » REBEEREIHFHHEN (2) BREKL (105) &
(b) st EEE (154) 7

4 BAEBEFEEATEEYS  £B%F (Boeing) #EMZE T EL (Air-bus) 3485
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AR EMEBIERLT

I A FAE
Y3 (-10,-10) (100,0)
FEE (0, 100) (0,0)

(a) K4 EE e Nash 344 2 #3R#A - (1049) |
b) 2P ELNERFAEAFELBL— KR MELEH?HFRA - (155
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